HOMEWORK ASSIGNMENT #1L:0RGANIC CHEMISTRY | (30 pts)
{ Lewis Modeling: | Due Wed 7 September 2016

Vour name: o g Bt e g
1a) Braw the most stable Lewis dot electronic configuration for O in Ca0 and glearly indicate
its charge In your drawing: [ o
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1hl Write down the equivalent, rorplere elactronic configuration for the above specdies
{remember: complele confipuration means starting with 15%25%.etc)
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ic) Daes O as drawn above appear 10 obey the octel rule 7 ff V!'Ss NO
Zay Draw the most stable Lewis dot electronic configuration for one of the G in O, and clearly
indicate s charge in your drawing: M—)—ﬁul
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2h) Write down the equivalent, complete eiectmnrc configuration for the above cpecses
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203 Does O as drawn above appear to obey the octet rule 7 YES RO ‘;
24d) Compare your answers in 1c and 2c. Explain why both G sre stable in the two compounds
despite the d;apanw you should have absewed in your answers. ; -
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3. Draw the most stable Lewis structures that conform 1o the octet rule for the conatént and

polar covalent compounds below. Make sure to indicale any formal charge present oneach
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3. {continued)
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phosgene , COCl,

note: Cis central to O and both Cl (2 pts)
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sulfur dioxide, $0; note: $ is centrally honded to both O {2 pts)
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4. 150, ‘s honding conforms to the rule that the octet rule can be broken to minimize formal charge
for elements starting with P forwards, what is the best structure for 50, ? {1 pt)
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Given that thmnvi chioride {SOCL) is ennrely szngle-bonded what are the
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expected formal charges on the individual atoms ?Assume § is cerg)al to (;)‘5 both Cl {2 pts}
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5.} Explain why CO is over 200 times more likely to react with the iron in your blood than O; (The
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Ifthe S is double-bonded to one of the Cl, drow the most stable Lewis *;truc}:“g ure with the
formula SOCL, which obeys the octet rule . Indicate any formal charges on each atom. {Assume
5 is central to © and both Cl. The overall molecule can be either a cation or an anion, e.g. it can

hold a net charge) {2 pts)

If you don’t make any assumptions about how S0Clh atoms are connected, draw a
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structure that minimizes total charge, individual formal charges and best satisfies the octet rule : L
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for all the atoms (2 pts)
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reactivity difference explains why you can asphyxiate yourseif by sitting in your car as it runs in a closed

garage.} {2 pts)
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